Coherence

T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T
10
f
|
- [
: 110 | L | u
[
: . sl |
'g 10-3 I HH L} lllllr il {\ b I,l_ 1% o / 3 |
X1:CDS-ADCTEST_ADCO_16_OUT_DQ/ X1:CDS-ADCTEST_ADCO_31_OUT_DQ T b
X1:CDS-ADCTEST_ADCO_18_OUT_DQ/ X1:CDS-ADCTEST_ADCO_31_OUT_DQ Al
X1:CDS-ADCTEST_ADCO0_19_OUT_DQ/ X1:CDS-ADCTEST_ADCO0_31_OUT_DQ
X1:CDS-ADCTEST_ADCO_15_OUT_DQ/ X1:CDS-ADCTEST_ADCO_31_OUT_DQ
— X1:CDS-ADCTEST_ADCO_14_OUT_DQ/X1:CDS-ADCTEST_ADCO_31_OUT_DQ ‘
10-4 1 31 |- 1 ﬂllll 1 lrml I 1B A I O I llmll 1 1971 110 8 IlIlIllm I 1% 1 1§ 1 LTI VI - 1 i I
0.5 X 1.2 1.3 14 15
Frequency (Hz)
T0=10/08/2018 15:08:44 Ava=1464 BW=0.0117098
Power spectrum
T T T T T T T T T T T T T T T T T T T T T T T T T T T T I T T T T T T T T T I T T T T
1 X1:CDS-ADCTEST_ADCO_14_OUT_DQ ]
X1:CDS-ADCTEST_ADCO_15_OUT_DQ -
A s X1:CDS-ADCTEST_ADCO_16_OUT_DQ -
————  X1:CDS-ADCTEST_ADCO0_18_OUT_DQ ]
X1:CDS-ADCTEST_ADCO_19_OUT_DQ ]
X1:CDS-ADCTEST_ADCO_31_OUT_DQ(RMS) |
° X1:CDS-ADCTEST_ADCO_31_OUT_DQ -
T
=]
= -1
c 10
(=]
©
=
N
2
10 T e i llllmi """ [ l“l i i T i A o -
0.5 0.6 1 1.1 1.2 1.3 14 1.5
Frequency (Hz)
T0=10/08/2018 15:08:44 Avg=1464 BW=0.0117098



Coherence

1

T T T

T T

T

[ TTTII

R

10"
Q
(3]
3
5 10?2
&=
[«
(&)
10°
-4 W
1095

T0=10/08/2018 15:08:44

X1:CDS-ADCTEST_ADCO_16_OUT_DQ / X1:CDS-ADCTEST_ADCO_31_OUT_DQ
X1:CDS-ADCTEST_ADCO_18_OUT_DQ/ X1:CDS-ADCTEST_ADCO_31_OUT_DQ
X1:CDS-ADCTEST_ADCO_19_OUT_DQ / X1:CDS-ADCTEST_ADCO_31_OUT_DQ

X1:CDS-ADCTEST_ADCO_15_OUT_DQ / X1:CDS-ADCTEST_ADC0_31_OUT_DQ
X1:CDS-ADCTEST_ADCO_14_OUT_DQ / X1:CDS-ADCTEST_ADCO0_31_OUT_DQ

9
Frequency (Hz)
Avg=1464

1
68 970

BW=0.0117098

Power spectrum

10°
10°
102

10

Magnitude

10

102

T0=10/08/2018 15:08:44

T |

|
X1:CDS-ADCTEST_ADCO_14_{
X1:CDS-ADCTEST_ADCO_15_OUT

X1:CDS-ADCTEST_ADCO_16_OUT

1 | |

messssss X1:CDS-ADCTEST_ADCO_18_OUT,
mmmmmmms X1:CDS-ADCTEST_ADCO_19_OUT
X1:CDS-ADCTEST_ADCO0_31_OUT

X1:CDS-ADCTEST_ADCO_31_OUT.

_DQ
_DQ
_DQ
_DQ
_DQ(RMS)
_DQ

AL T T T T lllllm‘ [IHHW

LU Lo vl 1 |[|||mL

Frequency (Hz)
Avg=1464

BW=0.0117098



